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5 % FE C) oz & (%)
Ok : 245
@) | sy | B2 P | s [0.1m|0.2m [0.3m|0.5m|1.0m |2.0m| 4 Tt
I 673| 99.3| 3.8(88.8 5.1 87.3 37
11 675 99.5| 4.1(90.3 3.8 95.1 77
m 674 5.1 9.3|98.4 2.3 83.0 46
v 675 7.6 |11.8|97.6 4.2 66.3 32
v 675| 13.8|16.4| 5.7 8.9 70.0 42
VI 674 17.420.8|12.6 15.2 85.4 59
Vil 675 | 21.0|23.9|14.8 18.6 83.0 60
Vi 675| 21.3{24.4|16.4 20.5 83.1 60
IX 676 | 18.3|21.8|14.3 19.6 86.7 65
X 678 | 12.1|16.2| 5.6 17.0 83.2 50
XI 676 5.9111.9(97.6 12.9 68.1 22
XI 676 2.8| 8.5|96.4 7.9 78.1 39
F 676 | 10.4|14.4| 3.2 11.4 80.8 22
&L b4 #E E H
(m/s)
E- = B BE| E R & X\ T B 2E| & | BE
%ﬁg BR > A & R — |Clear| Cloudy |Sunless /llu‘ |__| L,_l
I x 6 10 6 0
II x 4 8 11 1
m " 5 4 15 1
v 0.7 2 2 9 0
A 1.1 1 4 12 0
VI 0.6 0 1 16 0
vii 1.4 0 2 15 0
Vil 0.7 0 0 19 0
IX 1.5 0 2 16 2
X 0.6 0 1 15 0
XI 1.4 2 13 10 0
Xl 0.9 1 6 11 1
#® 21 53 155 5
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4 66.5| 23.5| 12 6 6 3 2 0 0
5 66.8| 35.0| 22 6 5 3 3 0 0
6 420.7]170.0| 12| 14| 13] 1 9 2 1
6 94.0| 21.0| 11 9 9 7 5 0 0
3.6 6 353.3| 97.0| 24| 12| 12 8 7 4 0
2.4 8 328.0| 85.0 9| 18| 18| 16| 12 1 0
2.3 a 416.2[190.0| 20| 13| 13| 11 9 3 1
2.4 8 184.5| 31.5| 28| 18( 17| 14 6 0 0
1.6 8 680.6 [200.0| 26| 20| 18| 16| 10 3 2
1.2 7 215.3| 66.0 2 9 9 8 5 2 0
4 221 7.9 17 8 5 2 0 0 0
6 117.6 | 63.0| 10 6 6 4 2 1 0
7 2965.6 | 200.0 | IX26 | 139 131| 103| 70| 16 4
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R E & i =0 28 v 6
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ol o S L 28 | v 5
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= B | LJ
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3 0 = > 28 | V | 19
27 1
: | DG 28 | Vv | 19
31 1 =
179 | 112 = 28 | v | 2
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(m) | ;%’ /a4 0.1m|0.2m|0.3m 0.5m |1.0m|2.0m | ¥ ?;%JE\

I 673| 1.2| 4.2|92.5 5.5 71.0 50

11 673| 1.2| 5.3/93.0 4.5 83.5 56

1 675| 3.5 9.0|95.8 2.7 61.5 27

v 674| 10.2|14.7| 2.9 8.0 75.2 22

v 673| 13.3|17.4| 6.5 11.9 75.6 42

VI 673| 14.4|18.0|10.2 14.5 87.5 36

VI 673| 18.6]21.9|14.6 17.2 87.3 68

vil 675| 23.0(25.7|16.3 20.5 82.1 59

X 676 | 19.9|22.4|14.2 20.8 80.9 a4

X 677 | 10.4|14.7| 5.3 16.8 88.3 63

XI 678 | 7.6|12.0| 1.9 11.7 66.2 35

X1l 676 | 2.5| 6.8|95.5 7.5 78.8 27

o 675| 10.5|14.4| 2.2 11.8 78.2 22
il B e & A
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< ® B |EE| B W B2 K| T RB| 2R £ | BE

%Hﬁ}@ BAR > A & R :—-_ Clear | Cloudy |Sunless /LLU‘ L_J L|J
I 0.8 5 5 15 0
I 0.5 3 5 15 0
1 0.7 5 1 1 0
v 1.1 0 2 13 0
v 0.8 0 5 16 0
VI 0.8 0 1 17 0
vi 1.1 0 0 17 0
vil 0.7 15| 0 3 11 1
IX 1.5 0 1 19 3
X 0.5 0 4 19 0
XI 1.0 0 5 9 0
Xil 1.3 1 7 9 0
£ 0.9 14 39| 161 4
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2.0 7 235.7| 76.5| 17| 7| 7| 6| 1| o
2.3 7 123.4| 42.0| 22| 7| 6| 6| 4 ol o
1.8 8 402.6 | 97.5 7| 21| 20| 14| 13| 3| o
2.3 8 167.4| 67.0| 15| 14| 13| 8| 5| 1| o
3.3 7 339.2127.0 19| 9l o 5| 5| 2| o2
1.6| 8 881.5(250.2| 19| 19| 19| 16| 12| 7| =2
10| 7 181.7| 53.0| 4| 14| 13| 9| 7| 1| o
5 189.7| 43.0 18| 8| 8| 7| 6| ol o
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(m) |® # ?ﬁfg féfg #3% [0.1m|0.2m [0.3m|0.5m |1.0m|2.0m | g ?)Z%‘E
I 673 99.2| 4.1|87.6 4.5 90.0 57
1 673 0.6 5.7]91.8 3.1 79.7 37
il 676 4.4 8.9]98.5 1.8 82.8 23
v 674 | 10.0|12.8| 1.9 4.8 77.6 34
\Y% 673| 13.7|18.0| 5.5 10.4 76.4 43
VI 673| 18.0|22.1|12.1 14.6 85.9 57
Vil 674 | 22.9{26.71]16.1 18.8 80.3 62
i 674 | 21.0|25.9|15.8 20.5 81.7 70
X 675 | 17.921.6|12.0 19.6 86.4 74
X 675 | 12.5|17.7| 7.7 15.7 89.0 52
X1 676 4.8(10.8199.7 9.8 76.7 30
X 673 2.4| 8.6|94.5 6.1 76.2 38
3 674 | 10.7|15.3| 3.6 10.8 81.9 23
& S H ® H
(m/s)
- ® B sz g W B X| T B |RA| B |8
%}%ﬁg BK *‘ AN A < — |Clear| Cloudy |Sunless /LLU‘ \___‘ L..-|
I 1.4 2 15 3 1
I 1.6 4 8 6 1
i 0.8 5 3 17 0
v 1.3 0 1 15 0
v 1.0 0 4 11 0
VI 0.6 0 0 12 0
Vil 1.0 0 3 8 0
Vil 1.0 0 2 9 0
X 0.7 0 1 9 0
X 0.9 0 1 16 1
X1 0.8 1 7 7 0
Xt 1.4 0 13 5 0
& 12 68 118 3
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4 157.3| 82.4| 28| 5| 4| 4| 4] 1] o
7 357.0| 61.2| 31| 16| 16| 12| 9| 3| o
1.8 6 133.7| 61.3| 17| 12| 12| 8| 4| 1| o
2.3 6 358.4| 57.5| 12| 16| 14| 11| 9| 2| o
2.8 8 189.7 | 74.5| 19| 13| 13| 6| 4| 2| o
41] 5 131.3] 28.0| 6| 12| 11| 9| 5| ol o
3.0 6 144.5| 63.0| 31| 12| 10| 8| 5| 1| o
1.7 6 297.2|123.0| 28| 14| 13| 1| 9| 1| 1
0.9 8 627.1| 95.0| 29| 20| 19| 14| 14| 5| o0
5 135.3 | 111.5| 17| 3] 3| 3| 2| 1| 1
3 56.3| 46.5| 21| 2| 2| 2| 1| o o
6 261.78 | 123.0 | x28 | 127| 119| 90| e8| 17| 2
B om = -
| #
B |RE | &£k | EE
|+ U= O] = a 5 = w A ® B
(BEFD) (B A1)
8131 = | B |8 |® | 8|8
28| 27 ]
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30| 30
21 o BEEmam | 2253 | vi| 83| x]| 1
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BESE | =<0 |29 |x | 5]|3]|Vv]|2
ol o
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ol o
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(k) . 4R
(m) | ¢ £y f'ﬁfié’ g}g #uz% {0.1m|0.2m|0.3m [0.5m|1.0m|2.0m | Fiy %Zf’ﬁi?ﬁg\
I 98.4| 3.289.5 4.0 R r
1 96.8 | 3.5|88.9 3.0 Vi )
111 3.7 7.6(96.4 2.2 Vj Vi
v 8.9|11.7| 0.7 4.0 N n
A 12.7{17.5| 6.5 11.4 n »
VI 17.6 | 21.9 | 12.1 15.7 n N
Vil 673 20.2|24.5(15.7 18.8 n Y
vii 673 21.4125.2115.1 20.4 n Vi
IX 677 17.7121.7 | 13.1 19.5 n n
X 678 12.0116.3| 7.2 16.2 n Vi
X1 677 6.1|11.7 | 99.6 12.1 » »
Xn 674 99.0| 5.1]90.0 7.1 n n
F 9.6|14.2( 2.9 11.2
& 3 b3 % H
(m/s)
s | B |8 |BE| B || B K| T H|RR B |8BE
%‘Zlﬁﬁi%ﬁ BA > A & R E Clear | Cloudy [Sunless /LLU' L__| L,.J
I 0.8 5
11 0.9 1
m 0.8 2
v 1.4 3 2 8
\4 1.0 1 0 17
VI 0.6 0 0 12
vil 0.4 0
Vil 1.0 0 0 6
X 1.0 0
X 0.8 0
XI 0.6 0 6 9
Xl 0.8 1 15 3
& 0.9 13
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93.0 70.0| 28| 2| 2| ‘2| 2| 1] o
436.8(140.0| 20| 13| 13| 11| 7| 3| 1
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7 | 138.3| s52.0] 13| 11| of 7| 5| 1| o
2.9 141.1) 46.5| 6| 11| 11| 6| 4| o o
3.1| 5 232.4( 84.5| 18| 13| 11| 8| 7| 1| o
1.9 478.3|121.0| 27| 15| 12| 10| 9| 4| 2
0.8 466.2| 93.0| 31| 17| 15| 13| 12| 3| o0
5 134.8] 58.0| 11| 6| 5| 4| 4| 1| o
2 0 o o of of of of of o
3059.1(140.0 | 20| 123| 109| 89| 74| 20| 3
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—+ 4O B oW = omE m = % =
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7 1 ) & # B O " e
EN: ) - N (%)
o e o[ g | i
¥ | g | g | 2% (0.1m|0.2m|0.3m|0.5m|1.0m) 2.0m ¥ ?;zf%ﬁ%
1 674 98.8| 6.4 89.9 4.1 Ve
1I 673 98.0| 2.989.3 3.4 Vi V
I 671 99.1( 5.1]91.3 2.8 n Vi
v 676 9.7114.3| 1.3 4.0 ” VJ
A\ 674 13.3|16.7| 3.0 10.5 Y n
VI 672 15.4|18.8 | 10.2 14.1 n Vi
Vil 672 19.923.1|15.6 17.7 Vi Vi
Vil 675 22.0|26.2 | 16.6 20.1 N Vi
IX 675 15.4(19.3 | 11.7 19.6 n Vi
X 675 12.1|17.0| 4.8 15.2 n ”
XI 677 6.7(13.1| 0.1 11.8 n Vi
Xt 673 1.5| 8.5[95.3 7.4 Vi VJ
F 674 9.4|14.3( 2.5 10.9 Vi ”
& H # ® H
(m/s)
E | £ | B | BE|E KW E XK|T B | BRE| B | B
%%ﬁzﬁg BA > A & R — |Clear Cloudy |Sunless /LuL LJ L,-I
1 0.8 1 0
| 0.8 6 0
m 1.5 3 0
v 1.3 0 0
v 1.0 0 0
Vi 0.3 0 1
Vit 0.6 0 0
Vi 0.5 0 0
IX 0.6 0 1
X 0.5 0 0
X1 0.7 0 0
Xl 1.0 2 0
£ 0.8 12 2
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154.5| 80.0| 8| 6| 5| 5| 4| 1| o
46.5| 30.0| 9| 4] 4| 2| 2| o] o
127.3| 35.5| 22| 9| 9| 7| 6| of o
251.3| 54.0| 20| 16| 16| 14| 9| 1| o
479.7|221.0| 27| 15| 12| 11| 9| 1| 1
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B f1 33 4 K ®
%5 % & Ht #® (°C) .
5 s E °C) 7 = (%)
Ok 50 . 24550
() |5 sy | BET)ET | iz |0.1m |0.2m |0.3m [0.5m |1.0m |2.0m| 1y pa-1
I 674 98.4| 3.9|91.0 4.8 R x
I 673 99.7| 4.9]91.1 3.5 n »
i 673 3.1 8.3|96.2 2.4 ” ”
v 675 9.5|14.5| 1.6 4.9 ” »
A\ 674 13.6 | 18.0| 4.4 10.7 Vi »
VI 673 | 18.222.7|10.6 14.0 » ”
Vi 673 | 20.8|23.7|15.5 17.8 ” ”
i 675 | 21.3|25.1|16.0 21.2 ” ”
IX 674 | 18.4|22.3|13.6 20.6 » »
X 677 11.0|14.5| 4.4 15.4 ” »
X1 677 4.9110.8]99.2 11.5 VJ ”
X1l 674 2.1 8.1|94.5 6.9 » »
=3 675| 10.1|14.7| 3.2 11.2
& & i3 ® 5]
(m/s)
- = E |BEE | B KRB B XX B BA| B | BE
%%H%E BK | X JAN A [X | = |Clear| Cloudy | Sunless /UJ‘L L L,-I
I 1.3 2 12 6 0
I 2.0 5 7 5 0
1) 1.4 4 0 6 1
v 1.7 0 3 10 0
v 0.8 0 5 8 0
VI 0.5 0 2 8 0
Vi 1.2 0 0 14 0
Vi 0.8 0 1 10 1
X 0.8 0 2 8 1
X 0.8 0 0
X1 0.3 1 6 15 0
Xl 1.4 2 14 4 0
F 1.1 14 52 94 3
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Ok ] 24518
am) | x| B2 B | s 0.1m[0.2m[0.3m|0.5m | 1.0m|2.0m | Ty i
I 672| 96.2| 3.289.3 4.5 84.5 60
It 675 2.1| 7.6|96.0 3.1 83.6 33
it} 681 3.8| 9.3]96.7 2.7 69.8 31
v 674 | 10.0|14.9| 1.8 7.4 76.0 48
v 673| 13.5|18.5| 5.5 12.0 77.1 47
Vi 672 | 16.419.9]10.0 14.5 85.5 66
vil 673| 21.6]25.6|16.7 18.6 85.8 63
Vil 672 | 22.2|26.5|16.2 21.2 85.3 63
X 674 | 18.8|22.4|14.4 21.3 87.9 71
X 676 | 11.8|16.5| 5.9 16.5 86.6 56
XI 676 6.6|11.9| 1.1 12.9 89.9 46
Xil 674 | 99.1| 9.1(91.9 7.7 84.2 44
F 675| 10.2|15.5| 3.8 11.9 83.0 31
& s ff& ® H
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%éﬁ';;g B > A & R — |Clear Cloudy [ Sunless /llu' l__‘ L,J
I 0.8 3 4 10 0
11 1.4 0 6 9 0
I 1.6 3 4 9 0
v 1.5 0 4 11 0
v 1.2 0 4 10 0
A 0.3 0 1 13 0
v 0.6 0 1 13 0
Vil 0.8 0 6 9 3
IX 0.3 0 2
X 0.4 0 5 17 0 4
XI 0.7 1 6 10 0
X1l 0.6 3 7 6 0
& 0.9 10 48 107 5
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5 20.4| 17.0| 13| 3| 3 1 1 ol o
1.8 6 310.1| 68.2| 16| 17| 16| 10| 9 1| o
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Xl 0.7 3 0 13 5 0
&3 22 3 94| 159 5




269

3 # A E O+ B W M
P - —— B ok & B B B Kk B %
Hw| om| B B x 24 B M =
#n|we| B #® z
() | (om) | B gpo# | EHx| @ B g 1200)21.0 25 | 210| 250 =100
2 2.7 2.7 4 1 1 0 0 0 0
5 278.7| 69.0| 19| 13| 12 8 7 2 0
6 362.2| 86.0 1| 17| 17| 13 9 3 0
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X 0.5 0 0 8 8 0 1
X1 0.3 0 0 10 5 0
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